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BO-07 
Plant Physiology and Biochemistry 

Ikkni dkf;Zdh ,oa tSo jlk;u 
Bachelor of Science (BOTANY) (BSC-12/16) 

SecondYear, Examination, 2019 
 

Time : 3 Hours          Max. Marks : 40 
 
Note :-This paper is of Forty (40) marks containing  

 three(03) Section A, B and C. Learners are  

 required to attempt the questions contained in  

 these Sections according to the detailed  

 instructions given therein. 

uksV %& ;g iz'u&i= pkyhl ¼40½ vadksa dk gS tks rhu ¼03½ 

  [k.Mksa d] [k rFkk x]esa foHkkftr gSA f”k{kkfFkZ;ksa dks 

  bu [k.Mksa esa fn, x, foLr`r funsZ”kksa ds vuqlkj gh 

  iz”uksa ds mÙkj nsus gSaA 
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Section-A/ [k.M&¼d½ 

(Long Answer Type Questions)  

¼nh?kZ mÙkjh; iz’u½ 

Note:- Section ‘A’ contains four (04) long-answer-type  

questions of Nine and Half (9½) marks each. 

Learners are required to answer any two (02) 

questions only.   (2×9½=19) 

uksV%&[k.M ^d* esa pkj ¼04½ nh?kZ mÙkjh; iz'u fn;s x;s gSaA 

izR;sd iz'u ds fy, lk<+s ukS ¼9½½ vad fu/kkZfjr gSaA 

f'k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz'uksa ds mÙkj 

nsus gSaA 

1. Describe the mineral elements requerment of 

plants. How the essentiality of mineral is 

determined? 

 ikS/kkas dh [kfut rÙoksa dh vko”;drk dk o.kZu 

dhft,A [kfut dh vko”;drk fdl rjg fuf”pr 

dh tkrh gS \ 

2. How the absorption and translocation of water 

in Plants takes place? Give a brief account on 

it. 
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 ikS/kksa esa ikuh dk vo”kks’k.k ,oa LFkkukUrj.k fdl 

rjg gksrk gS \ ,d laf{kIr fooj.k nhft,A 
3. Give a brief account of Nitrogen cycle in 

nature. What is its importance?  

 ukbVªkstu pØ dk laf{kIr fooj.k nhft,A bldk 

D;k egÙo gS \ 

4. How CO2 assimilation in C3 Plants takes 
place? Write a brief account.  

 C3 izdkj ds ikS/kksa esa CO2 dk Lokaxhdj.k fdl rjg 

gksrk gS \ laf{kIr fooj.k fyf[k,A 

Section-B/[k.M&¼[k½ 

(Short Answer Type Question 

y?kq mÙkjh; iz'u½ 

Note:- Section ‘B’ contains eight (08) short answer 

type questions of Four (04) marks each. 

Learners are required to answer any four 

(04) questions only.      (4×4=16) 

uksV%&[k.M ^[k* esa vkB ¼08½ y?kq mÙkjh; okys iz'u fn;s 

x;s gSaA izR;sd iz'u ds fy, pkj ¼04½ vad fu/kkZfjr 

gSaA f'k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz'uksa ds 

mÙkj nsus gSaA 
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1. What is osmotic pressure (OP)? How it is 

related to concentration? 

 vkLeksfVd nk¡c D;k gS\ bldk lkanzrk ls D;k lEca/k 

gSa\ 

 

2. How PH change in guard cells causes opening 

of the stomata? Explain. 

 }kj ¼j{kd½ dks”kkvksa dk PH ifjorZu i.kZjUnz [kksyrk 

gSa \ le>kb;sA 

 
3. Which five (5) are most abundant elements in 

the plants? What is their role?    

 ikS/kksa esa ik;s tkus okys lokZf/kd ik¡p ¼5½ rÙo dkSu 

gS\ mudk D;k dk;Z gS \ 
 

4. How does the assimilation of Inorganic 

Nitrogen takes place in Plants? Give a brief 

account. 

 ikS/kksa esa vdkcZfud ukbVªkstu dk Lokaxhdj.k fdl 

rjg ls gksrk gS \ laf{kIr fooj.k nhft,A 
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5. Explain enzyme Inhibition with the help of 

suitable examples. 

 mfpr mnkgj.k nsdj fd.od vojks/k le>kb;sA 

6. What are Carbohydrates? Give a brief account 

of Carbohydrates. 

 dkcksZgkbMªsV~l D;k gS\ dkcksZgkbMªsV~l dk laf{kIr 

fooj.k nhft,A 

 

7. What is Physiological role of cytokinins? 

Describe briefly.  

 lkbVksdkbfuu dk dk;dh dk;Z D;k gS \ laf{kIr 

fooj.k nhft,A 

 

8. How light duration affect the plants flowering? 

Explain with suitable examples. 

 Ikzdk”k dk nhfIr dky isM+&ikS/kksa ds iq’ihdj.k dks 

fdl rjg izHkkfor djrk gS \ mfpr mnkgj.k nsa dj 

le>kb,A 
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Section-C¼[k.M&x½ 

(Objective Type Questions 

oLrqfu"B iz'u) 

Note:- Section ‘C’ contains ten (10) objective type 

questions of Half (½) mark each. All the 

questions of this section are compulsory. 

      (10×½=05) 

uksV%& [k.M ^x* esa nl ¼10½ oLrqfu"B iz'u fn;s x;s gSa] 

izR;sd iz'u ds fy, vk/kk ¼½½ vad fu/kkZfjr gSA bl 

[k.M ds lHkh iz'u vfuok;Z gSaA 

 

Fill in the blanks with suitable words :  
lgh mfpr 'kCn Hkjdj fjDr LFkku Hkjsa % 

 

1. Hill’s reaction represent the………..of the 

photosynthesis. 
 ^^fgy fj,D”ku** izdk”k la”ys’k.k dh iznf”kZr djrk 

gSA 

 

2. Red drop is observed in Photosynothsis when 

the light exceeds wavelength. 
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 Ikzdk”k la”ys’k.k esa jsM Mªki fn[krk gS tc izdk”k dh 

rajxnS?;Z--------ls vf/kd gksrk gSA 

 

3. Short wavelength obscrbing pigment system 

is…….. 
 Yk?kq rajxnS?;Z vo”kksf’kr djus okyk jax d.k lewg gS-

--------A 

 
4. First stable product of Photosynthesis in C4 

plants is………. 
 C4 izdkj ds ikS/kkas esa izdk”k la”ys’k.k dk izFke 

mRikn gSA 

 

5. The Phytohormone which induces cellus 

farnation is……… 
 QkbVksgkWeksZUk tks ^^dSyl** fodflr djkrk gS----------gSA 

 

6. On the basis of Photopsiod requirement barley 

is…….   
 Ikzdk”k vof/k dh vko”;drkuqlkj tkS gS --------A 
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7. In legunes nitrogen fixing bacteria is………  

 Ny gukS esa ukbVªkstu fLFkjhdkjd thok.kq gSa--------------A 

 

8. C4- CO2 Fixation cycle is also called……… 

 C4- CO2 fLFkjhdj.k pØ Hkh dgykrk gS-------------A 

 

9. In Photosynthesis law of limiting factor was 

given by………. 

 Ikzdk”k la”ys’k.k esa lhekUr dkjd dk fu;e------------------

us fn;k FkkA 

 

10. The growth regulator extracted from cotton 

flower buds is……… 
 dikl dh iq’i dfydkvksa ls fudkyk x;k o`f) 

fu;Ùkd gS---------------------A 
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